Warm-Up

ears it is compounded.... 525\ @
o) (oo PO T) (26,2058

f 7 2 .
v nt




Logarithmic Functions
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Recall: To find an inverse of a function, you switch the x
and y values. Create a table of values for y = 2*. Use the
table of values o graph y and its inverse.
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Definition of Logarithmic Function with Base a

The function given by
f(x) = log.x (read this as "log base a of x")

is called the Logarithmic Function with Base a




What you need to understand about
| +hmic Functi

- Inverse of [Xponential Fonchion

- For Logs, x>0 B>0 andB31
y = LoggX LOQBX



Graph of Parent L ogarithmic Functions
f(x) = Logsx  Leg X
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Shifting Graphs of Logarithmic [ pgrent Graph:
Functions f(x) = logax
g(x) = |°92.:(>< - 1) i h(x) = loga(x) + 2
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k(x) = loga(-x)
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Converting between
Logs and Exponentials
Logegx =y <> BY =X
Log K292 =X
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Examples: Converting Logarithms to Exponentials
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Logarithms that appear to have no base

®|og 3 isreadlly L09 \03
® Logarithms with loase |0 are

called the Common \Q?/\S
® Calculators are designed to
evaluate these specifically




D e 4]
f(x) = log x

1) £(10) = Log),, (19)= |
2) f(25) = (a9 (2. 5)= 040

3) f(-2) = Lgcj\o(\z); Noﬂ(ﬂﬂ\\ lﬂf@




1) f(x)=logzx  find f(64)
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2) f(x) = log7x in 1
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3)£(x) = logex  find £(2) @
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5) Logs125* = 33X 6) Logs9* = RX
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